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Write and solve division equations for | (5-10) Page :375
real-world and mathematical problems
by using the Multiplication Property of

Equality
Solve each equation. Check your solution. (Examples 2 and 3)
sk k_
5.6 = S 6. 7= 7
z_2 1_w
¥ a3 8. 5= g

Test Practice

9.531= % 10. Equation Editor Solve % =194,
2 Understand how inequalities are (1-6) Page :389
similar to and different from equations,
and graph the solution of an inequality
on a number line
1. The minimum deposit for a new checking 2. To win a medal in a 5K race, a runner’s time
account is $75. Write an inequality to must be less than 22 minutes. Write an
represent the amounts in dollars a that inequality to represent the times in minutes
could be deposited in a new checking m that would win a medal. (Example 1)

account. [Example 1)

NEVER
Y GIVE ,

UP;




Graph each inequality on the number line. (Examples 2 and 3)

3. b<—15 4.d=475
— il . — &
haary T T T ] | 1]
-3 =25=-2-15 -1 0 05 1 3 3.9 4 45 5 &5 6
5.0> ¢ 6.d<—25
. 5 . —_— 4
ERRTEERETEREETE -3 T T T T
55 5 5 5§ 5 § —25 -t -
2 Use variables, which represent (1-5) Page :413
independent and dependent values, to
write one-step and two-step equations
from real-world situations
1. The table shows The total cosl & of Bunirsg 2. The table shawws the 1atal nurmibes of
I miovie Hokeets, Wiiile an equatidn 1o PEnCEs O i B Beoaded Welrile sy SO b Lo
re-present e relationship batwesn ¢ and L represent the refationshio between o and i
=TT T ] |Emaitsgaia 1)
Mumber ol Total Coast Mumber of Totnl Mumber
Ticket=, § %], = HBoxes, & of Pencils, o
1 L P
2 24
3 .
a1 AE
J. The= Labls shavs (e 1olal corsl O hovTirsg . The imbhe shoses the 1olal cost ol renbineg &
arry riumbser of games aod renting bosiling canoe based on the member aof hows and a
Liveees. Wile &8 Two-Slen egualilon o ane-dime revlal fes Wrike a Two-sie
represent e Total cost & for bewading g Equsticsn o represent the tollasl cost © of
OAMEL, Earmpla ) rerling & carmses o i oUrs. Esample 2
Total Co=t Huimbeer of
s = Howrs, M
2 0 2 =T
R 3 14 3 =B
1 4 tH 4 49
1
5 Tesi Poackices
5. Open Resparmses T tabils shows the jots] oost of Bumbier ol Total T osl

belonging Lo m negs cariaer Bagad an the numilser of Maoanihs, %], &
riesriifis and & one-fime resgRsbration Tese Wrile a bwo-Sien
edpation o represent the mtal ¢ost © for bEEdanging 1o the
Fibref=s s cErbisr o o moanbbs,

. 0
3 =55




4 Graph a relationship represented by an

equation and write an equation

and using the independent and
dependent variables

represented by a graph by identifying

(1-4) Page :421

1. The equation p = 144b represemts the
number of pencils p in & boxes, Graph
the relationship on the coordinate plane.
(Example 1)

Pencil Boxes

i

324

Number of Pencils

o SABEBEER

P
123456789
Number of Boxes

3. The graph shows the total cost ¢ of buying
one large bucket of popcom and d large
drinks. Write an equabtion from the graph that
could be used to find the total cost ¢ if you
buy one large bucket of popcorn and d large
drinks. (Exampie 2)

2. The equation ¢ = 2b + 6 represents the tolai
Cost ¢ of b sets of beads and one necklace
string. Graph the relationship on the
coordinate plane. [Examgie 1)

Necklace Supplies
<
20
<l
»
—
g 0
8
6
4
0 1234567890
Number of
Sets of Beads

Test Practice

4. Open Response The graph shows the
total cost ¢ of buying one parking pass and
[ lickets to a8 concert. Write an eguaton from
the graph that could be used 1o find the total
cost ¢ if you buy one parking pass and
[ Uckets 1O & concert. (Exanpie 2)

Concessions Concert Attendance
aft ‘s o | ’0‘
co- .- - - -‘.
32 - t—tet 8o .
— HEHE = 70 .
2 ii =l (/ = o« 5
§35 ¥l g
o< 307, 48 B8 Bl w0y
[ B : oy
] : Nf'
‘ ‘4 0 ]

Q 1 2345% 0 12345
Number of Number of
l'.;'r‘tm: Tickets

5 Use equations and rules to find missing| (1-6) Page :403

variables in tables

values of independent and dependent
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1. Sadie ordered a pizza and had it delivered.
The delivery fee s $3.50. The total cost c is
equal to the cost of her pizza p plus $3.50.
The rule s p + 3.50. Complete the table
using the rule to find the total cost if her pizza
costs $9.75, $12.00, or $14.50 Exampie 1

Input, Cost of : Rule | OQutput, Total
Pixzza($).p | p+ 350 Cost ($). ¢
12.00
14.50

input, Cost of ' Rule | Output, Total
Salad ($), s s — 075 Cost ($). ¢
355
425

5. Each pie a1 a bakery costs $9.50. The total
cost ¢ of p pies is equal to 9.50 times p.
Complete the table to find the number of
pies purchased if the total cost s $19.00,
$28.50, or $4750. Exarpke 2)

Input, Number Rule | Output, Total
of Pies, p 9.50p Cost [$). ¢
19.00
2850
4750

2. Joshua has a coupon for $1.50 off his
purchase at the souvenir shop. The total cost
¢ s equal 1o the cost of his purchase p minus
$1.50. The rule is p — 1.50. Complete the
table using the rule to find the total cost if his
purchase s $5.67, $8.34, of $11.97 (Examoke 8

input, Cost of Rule Output, Total
Purchase (SL.p] p—-150 Cost ($). ¢
5.67
834
1na7

3. Miranda has a coupon for $0.75 off any salad 4. Avery is buying material by the yard to make
at a restaurant. The total cost ¢ & equal to
the cost of her salad s minus $0.75. The rule
5 s — 0.75. Complete the table using the rule
10 find the total cost if her salad costs $2.79,
$3.55, or $4.25. Eample 1

bags. The material costs $4.98 per yard.
The total cost ¢ of y yards is equal to 498
times y. Complete the tabile to find the
number of yards Avery purchased i the 10tal
cost s $14.94, $29 .88, or $44.82. [Example 2)

input, Number Rule Output, Total
of Yards, y 498y Cost ($). ¢
1494
2988
4482

Test Practice

6. Table Item Anthony i buying plants for his
garden. Each plant costs $S0.95. The total
cost ¢ of p plams is equal to 0.95 times p.
Complete the 1able 10 find the number of
plams Anthony purchased if the total cost s
$7.60, $11.40, or $15.20,

Input, Number Rule Output, Total
of Plants, p 0.95p Cost ($S). ¢
760
1140

1520



6 Identify parts of an expression froma | (4-9) Page :285
verbal description in order to write an
algebraic expression, using variables
for unknown quantities, that models a
For each verbal phrase, define a variable to represent the unknown gquantity. Then write the
phrase as an algebraic expression, Examaies 2-4)

4. three more pancakes than Hector ate 5. twelve fewer questions than were an the
first test

6. tweo and cne-hall times the number of minutes 7. cne-third the number af yards
spent exercising

8. fouwr less than seven times Lynn's age 8. 5250 more than one-fourth the cost of a
pizza

7 Identify the independent and (1-6) Page :11
dependent variables in a given scenario
and use that information to create an

equation, table, and graph that
represent the situation

1. & school sedis Hekels to thelr school @ley
threugh sn anline tcked comparny. Each liekel
costs §8 and the company charges a $2.50 . Repressnd the rélationship wilh 4 graph

processing fes per order. Reprasen the

relatiornahip between e number of Hekels School F-Iﬂ'.'
bought ¢ &nd Bhe tobal cost o with Bn

S uation, & tible, and & graph. fEsampia T

& Represent e relaionship with s
B0y L isthene

h. Repsedsind the relafionshio with a table.

(% N =
1

r
| 33 A5 TH 9K
Humber af Tickels Sold

Todad Coad (§)
o anGEEEREXN

L R



2. Carmelo earns a weskly slowance of §5
plus an additional $0.75 for each chore that & Représent the relationship with & giaph.

he completes, Represent the relationship ABOwshEE
bétaeen the total earmed | and the numbser

i
ol chores complated ¢ with &n equation. & -
table, and a graph. Eameis 1 & E
¥
A Heprasant the rH:EII:II'.'II'L'i.l"IiFI- with an i & |
equation = = aE TR |
oy
b, Represent the rdalionship with 4 table. E 2
d
Murnbes of Tolal Earmed ' P
e denon | (). ! 0 1234567800
1 Numbed of Chones
2
3
- |
Test Practice
8. = I The: Ianke Shos l_hE Mumber of Total Eamings
lE'-HrI"lII"II;E. r':"r EHH" ﬁIE Eﬂl'ﬂ Et H'H!' Erlﬂh gl-&l:l-ﬂ l-.'l_l_l.l_._ 1, :E”. 2] i
bake 1ale. Represent the relationship
Between the number of pies soid 2 and 1 B
thse= 2c3tal lE':'I:I"I'lﬁ.l'!l-g".‘. & with an edguation.
2 12
3 18

Apply
&, Zari B camparing the costs of heving cupcakes R T
deliverad from hwo different bakeries. Badty's af Cuncakes o | 1ol Cost (%),

Hakery alters free defiveny st salls cupsskes by
the dozen. The teble dhows the 1odal cost c of o

dazens fram Betty's Bakery. The Swesl Shoppe 3 a8
eharaes $20 for delivery and $18 per dozen, The
equstion ¢ = 18 + 20 represents the total cost £ 3 72

of o darens of cupcakes and dellvery from the
Swael Shoppe. I Zarl has $110 to spand, which
bakery should she use 1o order the greates
number of cupcakes? Explain,



L '?E"FH!:.-.'H: with Problems Ryder plays 8 6. Multiple Representations Winsiow earms
video game where each player is gven pais B15. 50 for each lawn tha he mows,
and pleyers sarn more points by calching
bugs. Wiile an sgustion o repréesa the
intal nurnbet of points p earned for catehing nuember of lawns mowed mand his totsl
b bugs Use the equation to find Ryders eamings & with an equation.
points after catehing 10 bugs

Video Game Score
o b. Repregent the redationship in a table for
Lt 0.1 2, and 3 lwns mowed

&. Represent the relatisnship between the

4E
_Lic] . i
W 3254 !
JH
Eju. L Lo |
= = i |

H:..’.l'
-]

8 Use the properties of operations to (1-4) Page :327
write expressions in simplest form and
check to see if two expressions are
equivalent

Use properties of operations to determine whether or not the expressions
are equivalent Cumale 1)

Lix+10}+x+9and 2ix + 7} + 5 L. 0.5x + 1and 10 5x)

Use substitution to determine whether or not the expressions
are equivalent. Examples 2 and 3)

2. 3x+ 2x + xand Tx & x4+ 1and §:|:1+ %.:r;'-e“-x




for real-world and mathematical
problems by using the Addition
Property of Equality

Solve each equation. Check your solution. (Examples 2 and 3)

5.24=x—-5 6.z—7=19

{ . 5 b P |
7.z-93+=13 8.55=b—12

Test Practice

9.67.9=c—445 10. Equation Editor Solve x — 7 .49 = 87.3.
1. After épienc!inglmnney for a golf outing, Gus had $51B2 etn I Cost ($)
remaining in his checking account. The table shows how
much money he spent on different items to participate in | Entry Fee 94.50

the outing. Use an equation to find how much money
Gus originally had in his checking account.

Golf Shoes 44 25
Gloves 125

12. Robin made two batches of every item shown in the Baking Item | Aot of Eloi

table. At the end of the day, she had T-]T cups of flour 3

left. Use an equation to find how much flour Robin Bread 13 cups

originally had on Saturday. Muffins 2 cups
Pancakes 1-% cups

13. @ Reason Abstractly During a test flight, 14. @ Find the Error A student is solving the

Jeri's rocket reached a height of 18 yards equation x — 3.2 = 5.5, Find the student's
above the ground. This was 7 yards less mistake and correct it.

than the height that Devon’s rocket reached. X—32=5F5

Did Devon’s rocket reach a height greater .

than 23 yards? Explain.

X =23

Write and solve subtraction equations | (5-14) Page :357,358




10 Write and evaluate numerical (1-10) Page :275
expressions involving whole-number
exponent

Evaluate each expression. |Examples 1 and )

LEA+[5-T|%2-9 29+8%3-(552 3.4 % (5% 12} - 6
4.78 - 2% 4 (M =6} %2 B.O47x|1543 433 6.1 4 (4% 2)x 517
T4+ (6% ¢)x3 812+ (2% 3)-2

9.36 + ¥+ 3)-24 10.80 + (4% £} 4375

11 Understand how inequalities are (7-10) Page :389

similar to and different from equations,
and graph the solution of an inequality
on a number line

7. Which of the following are solutions of the 8. Which of the following are solutions of the
inequality t +7 <12: 4,5, 67 (Example 4) inequality h =4 > 9:12, 13, 147 (Example 4)

9. Which of the following are solutions of the 10. Which of the following are solutions of the
inequality 8r= 18: 1541 137’ (Example 5) inequality -Zﬁﬂ < 6:0.25,0.4, 0.57 Example 5)




12 Find the greatest common factor and
least common multiple of two whole
numbers

(7-10) Page :303

7. On every fourth visit to the halr salon,
Margot recelves a discount of $5. On every
tenth visit, she receives a free halr product.
After how many visits will Margot receive the
discaunt and a free product at the same
time? [Esampie 3)

8. The table shows the city bus schedule for
certaln bus lines. Both buses are at the bus
stop right now. In how many minutes will
both buses be at the bus stop again?

|Examspin 34
- Arrhees at the
Bus Line bus stop every..
A 25 minutes
= 15 minutec

Use any method to find the least common multiple of each pair of

numbers. (Esampie &)

8.4 6 0.3, 5
13 Write and evaluate numerical (1-6) Page :267
expressions involving whole-number
exponents.

Write each product using an exponent. (Examples 1and 2)

1. 4= 4 = 4

2 3I=I=xIwImT

VL D TP TR SR SN
B 3¥aah3¥ X X X

3.5 =15 =15 =15

6, 1625 = 1625

14 Identify parts of an expression using
mathematical terms (sum, term,
product, factor, quotient, coefficient);
view one or more parts of an
expression as a single enti

(1-3) Page :285

identify the terms, like terms, coefficients, and constamts in each expression. ([Edxample 1)

1L de 4+ T+ 5+ 28

2,50+ 2+ T -+ 6a

3.4 4 4y + y+ 3




15

Evaluate expressions at specific values | (1-9) Page :293
of their variables.

Evaluate each expression when x = % and y = 2.5, {Exampis 1

|k

1. x 2y’ 3.

Lt | P2

Evaluate each expression whena =3, b = E and ¢ = &. Write in simplest farm. [Esample 2

4. o+b §.c=0h B.h=n

3 i
Evaluate each expression when o = 4, b = 3, and £ = 3. [Esampie 3)

T.{3a+ 1Bc) + b2 B.o%12d+[b~1) 9. (25 + 3oi(cd
16 Find the greatest common factor and | (1-6) Page :303
least common multiple of two whole
numbers.

Use any method to find the greatest commaon factor of each pair of
numMbers. |Exampies 1and 2)

1. 12, 30 2.4 16 3.9 36
4.35 63 6. 42 56 6. 54, 81
17 Use the Distributive Property to (1-12) Page :313

evaluate numerical expressions, to
rewrite algebraic expressions, and to
factor numerical and algebraic
expressions.

Use the Distributive Property to expand each algebraic expression, [Eamaie 1)

L 3x + B 2. 5(6 + x) 3.9(3 + x)




Use the Distributive Property to simplify each expression. Eaampia 2

3 e L3
4.12.33 5.15.23 6.8+ 4

Use the GCF to factor each numerical expression., Example 3)

71.16 + 48 B.35 4+ 63 9. 26 + 39

Use the GCF to factor each algebralc expression. (Exampia 4)

10.8x + 16 . 24 + bx 12,42 4+ Tx

18 Use the properties of operations to (5-10) Page :327
write expressions in simplest form and
check to see if two expressions are
equivalent.

Simpilify each expression. [Examples 4 and 5)

5. 3x 4 4 4+ Sy =1 B 10 4+ Fx 5 & dx

T dx? B b B D E%x2+x-l-%riﬁr%ﬁ

Test Practice

8. Simpley % i %:F_?L-r = B} < 4x 4 EI%_ |Esanmpio &} 10. Multiselect Which of the foliowing are
equivalent tn%-:ﬂ:-rzl- 1} + 3x 3 711‘?
Select all that apply.

3 1
Bxit T4+ 3+ 3
Buwdp 14 3x F JT

1
9.:-:!1'13

3 1
r TR a*ta
L T S

=Tl o |
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Use substitution to determine whether| (5-8) Page :339
a given number is a solution of a one-
step equation.

5.45x=18,3,4,5 6.2.25c=27,12,13,14
1.d+55=4;22 23, 24 8.363+y=12123,4
20 Write and solve addition equations for | (5-10) Page :349
real-world and mathematical problems
by using the Subtraction Property of
Equality.
Solve each equation. Check your solution. (Examples 2 and 3)
5.9=3+0 6.5+x=10
1,,-63 1_piod
7.34+z—6~4 3.92—b+24
c Test Practice
g
-

sy =it

9.1835=¢c+ 5.1 10. Equation Editor Solve x + 5.15 = 23.85.
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Write and solve multiplication
equations for real-world and
mathematical problems by using the
Division Property of Equality.

(1-4) Page :367

1. Maribel and some friends went to an

adventure park. The total cost of their tickets
was $374 and each person paid $46.75.
Write a multiplication equation that can be
used to find how many people bought
tickets to the adventure park. (Example 1)

3. The distance around a lake is 2.6 miles. On

Saturday, Doug biked a total of 18.2 miles
around the lake. Write a multiplication
equation that can be used to find how many
times Doug biked around the lake.
(Example 1)

2. It takes Samuel 5 hour to walk a mile.
Yesterday, Samuel walked for 1— hours.
Write a multiplication equation that can
be used to find the number of miles
Samuel walked. (Example 1)

4. An express delivery company charges
$3.25 per pound to mail a package.
Georgia paid $9.75 to mail a package.
Write a multiplication equation that can
be used to find the weight of the package
in pounds. (Example 1)
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